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N0. QUESTION 1     [08] COMMENTS 

1.1 
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answer 
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answer 

 

(4) 

   

1.3  


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6,164cos2,288tan4 2

 

= 
3321611319,0

9640954042.000330944,37

−
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= 107,40 

 

 

Simplification 

 

Answer 

 

Answer only(full 

marks) 

(2) 
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NO. QUESTION 2   [14]    COMMENTS 

2.1.1 
175,0

3

)402sin(
=

− 
 

:)3( 525,0
3

)402sin(
=

− 
 

67,3142 =−   

67,712 =  

83,35=  

 

 

 

✓multiplying by 3 

 
 67,3142 =−   
 

answer 

(3) 
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
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(6) 
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Labeled diagram 

& correct quadrant  
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 5=r  
 

 

correct subst. into 

expression 

 

 

 

 

 

 

 

 

answer 
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NO. QUESTION 3   [15]    COMMENTS 

3.1.1  

Q
PQ

PR ˆsin=  

1

45,33sin2,3 

=
PQ

 

2,345,33sin =PQ  

45,33sin

2,3
=PQ  

cmPQ 81,5=  

 



PQ

2,3
45,33sin =  


45,33sin

2,3
=PQ  

 

Answer 

 

(3) 

3.1.2  45,3390180ˆ −−=P  

55,56ˆ =P  

 


 45,3390180ˆ −−=P
 

Answer 

(2) 

3.1.3 
Q

QR

PR ˆtan=

 

1

45,33tan2,3 

=
QR

 

2,345,33tan =QR  

45,33tan

2,3
=QR  

cmQR 84,4=  

 

 

 



QR

2,3
45,33tan =

 


45,33tan

2,3
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Answer 

 

(3) 
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3,7
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3,7
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 CDBDBC −=

 

        

5,68,17 −=
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
2,48tan

3,7
=CD  

 m5,6  
 

 


3,22tan

3,7
=BD

 
 m8,17  
 
 

answer 

(5)

 3.2.2 BDEA//

 CBABAE ˆˆ = ).( salt

 = BAE ˆ 22,3 

  

 

S/R 

answer 

(2)

 
  [15]   

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Question 4 [07] 

 

4.1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

:f ✓domain 

       ✓range 

        Asymptotes 

         

:g  −x intercept 

        −y intercept 

        Asymptotes 

                                                                                                                                                (6)                                                                                                      

 

4.1.1  2;0y  Answer 

(1) 

 

  [7]    

NO. QUESTION COMMENTS 

5.1  
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 2585180ˆ
2 −−=C  
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2 =C  
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 130ˆˆ
1 =+= xDA ).( parmsopp  

 ).(130ˆ
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 70130 −=x  

60= x  
 

 

 

 

 

 

 

 S/R 

 

 S/R 

 


25ˆ

1 =C  

 

 

 


70ˆ

2 =C  

 


701 =D and reason 

 

 

 

answer 

(6) 

5.2.1  

 

 

 

 

 

 

 

 

 

 

 

 

 

In 222: PTTSPSPTS +=  (Pyth) 

)1(222 −−−−−= TSPSPT  
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S/R 

 

Equa.2 

 

Equa.1+equa.2 

 

 SRQS = and reason 
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)90(ˆˆ
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1
ˆˆ SP =  (3rd <) 
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S/R 

S/R 

S/R 

 

 

 

(3) 
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NO.                       Question 6  [14]                                                                                       COMMENTS 

6.1.1  
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)(; givenWRSWTPST ==
 PRTW // )(midptthrm

 UVTW //
 

S/R 

(4)
 

6.1.2 180ˆˆˆˆ
4321 =+++ TTTT  (str. Line) 

180=+++ xxyy  
18022 =+ xy  

90=+ yx  

180ˆˆˆ
321 =++ TTU  UVTW //  

 18090ˆ
1 =+U  

 

 

S/R 

 

S 

 


90=+ yx  

 

S/R 

 

(4) 

6.1.3 
)(

2

1
midptthrmPRTW =

 

)(
2

1
midptthrmPRUV =

 

UVTW =
 

)(90ˆˆ;90ˆ
321 provenTTU  =+=

 
UVTW //

 
TUVW

is a rectangle 

 

S/R 

 

 

S/R 

 

 UVTW =
 

 

 UVTW //
 

 

(4) 

6.2.1 cmOB 2=  (diagonals of kite bisect each other) 

 

 

2cm 

correct reason 

(2) 

6.2.2 90ˆ =BOA (diagonals of kite intersect at right s ) 
90  

correct reason 

(2) 

6.2.3 20ˆ =OAB (diagonals of kite bisect s  of kite) 
 2020ˆ +=DAB  

40=  

S/R 
40ˆ =DAB  

(2) 
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         END OF MEMO 


